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Pass-by-value ¢ Pass-by-reference? (15 4 )

#include <stdio.h>

void F1(int x)

printf ("Inside F1 x = %d before adding 10.\n", Xx);
X += 10;

printf ("Inside F1 x = %d after adding 10.\n", x);

)

int main()

int a=91;

printf("a = %d before calling Fl1l.\n", a);
Fl(a);

printf("a = %d after calling F1.\n", a);
return O;

}



105% & MBRER PisA BB 24 FE A

HEF s % - o= &8 B FE Y R FE L 501260
T XA B A SR A e hE gy

W olRE AR

= FR G I ARRE

N R VS

7 ~FELuEp NET Framework 2 CH 2z % - (15 4 )

F A uEP |loT (Internet of Things) 2 M2M (Machineto machine) z_# * - (20 & )



